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12, 2-(2k+1al+ 24k 2P (kAP tk _
fim T = - 627, k=49 I F9? (If lm = = - 6 then what is the value
x—1 ’ x—1
of K?)
1
® 1 -1 © 3 ©) -3
4 2 = dzy - dzy
1 n=2 Inx oA i Qg W F9? (If y = x Inx, then what is the value of — 2
X

® My - 2072 - 3x74 6x Mx - Sx7? © 6x Mnx - 2x72 - 3x74 © x Mx - 2x7% + 3x74

14, 53 (@ *T% IpIN0S el THTR? ©
® were (&) =i e © wFeiel ® Frdew
15. ' have not yet come round' AFHF o STAW - ©
® =fy g9s 91 oTRER | @ =f qe4qs ~Hifers 28| © = ex@s 73 22 @ = @37 =7 qag« Ff
16. GG v ©
® ofe ® 9 © -« ® fefo
17, SERER-R QWL e s ©
® @siacs ® wRgE © i ® = TR S
18, 53 GRS st < TRl ¥ ©
® =T ® Ty © sitF © =

- G W ST R = x T, R (< ST & S O (R & B2 (I — = x for an ideal

gas, which of the following felations is correct for one mole of that gas?)

®c, = (x-1)R ® ¢, = Rifx-1) ® ¢, = R/(1-x) ® ¢, = R/(1+x)
20. Fsa @G €y -9 9FB? (Which one below is unit of Egg) ©
® m2 52 172 -1/2 © m-ls ® m2?

21, m =H G TAGL R IPNLT 9T JEIFIT THANL M AT LF0 T i BF 1 406 7 9w T ©
enEAE v Foa C@?ﬁ?f‘iﬂﬂﬁm‘? (A satellite of mass m orbits a planet of mass M in a circular orbit

of radius R. The time required for one complete revolution is proportional to which of the following?)

® M \m © B2 ® R
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22, PIL MU T = 0 ML 1Z9 9G] HLP A S FLA L PILY WG QYS Flig 990, N4Y TG ANIPINOP | PlIvE G
sfexiE Fsa @A W"‘ﬁﬁﬂs TA? (A particle starts from rest at t = 0. The net force acting on the
particle is proportional to time t. Its kinetic energy is proportional to which one of the following?)

® * r © ® ¢
23. Hydra< 32909 (@18 78 @62 (Which one is not the cell of epidermis of Hydra?) @

® el B (Pseudopodial cell) o7l (@18 (Sensory Cell) © coiff =<8 (19 (Musculo-Epithelial cell)
(© FEMIEE (Cnidocyte)

24, IAGIELEE @5+ GwHg A9 &2 (What is the name of excretory organ of a grasshopper? ©
@® A (Nephridia) TSI (Flame Cell) © e afersl (Malpighian tubule)
© s AT (Malpighian body)

25. (PEfee 5o Co, g2rel @G (Which one is the Co, acceptor in Calvin cycle?) @
® PGA PEP © 0AA © RuBP

26. 2 Tited aefe (@i 9o @22 (Which part is not found in the heart of Rui fish ?) @
® A = (Sinus venosus) ol (Atrium) © i =iBifaeA™ (Bulbus arteriosus)
© @ FGIEAN (Conus arteriosus)

27. QT TNEAF A FIFH DG AT #A1eA TA? (How many lobules are found in the left lung of a ©

human?)
® 13 6 © 7 © 8

28. Which of the following words has been properly spelled? @
(®) bizarre decidous © cemetry ®© liasion

29. What is the antonym of the word 'pernicious'? ©
@ mellifluous onerous © beneficial ® spurious

30. She says, "I had a headache yesterday." Which of the following is its indirect speech form?
®) She said she had a headache the day before yesterday She says that she had a headache yesterday.

© she says that she has a headache the previous day
© She said that she was having a headache the day before yesterday.

31. Identify the sentence with correct punctuation marks: @
@ "Yes" Jim said to Della, "I'll be home by ten, "Yes Jim said to Della, I'll be home by ten"
© "Yes, Jim said to Della, I'll be home by ten. ® "Yes," Jim said to Della, "I'll be home by ten."

32. Which of the following is not a synonym for 'speculate? @
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® guess figure out © wonder © abstain
33, (@ QAHIET (7R GIeRl i Al a2 (Which enzyme digests fat?) @
@) =TS (Lipase) TGO (Maltase) © =niEE (Amylase) © AP (Pepsin)

34, 059 (P TR ARG S ©FAIT A 6w AA? (The Leptocentric vascular bundle is found in which of ®
the following plant?)

®) Dracaena Lycopodium © Ppteris © selaginella

35. WefaE afre e anzmeie offe Beomr o (I QTSRS raeE? (Which enzyme is required to ®

produce isocitric acid from citric acid?)
® QTFARDE (Aconitase) RS (Hexokinase) — © TAMAS (Enolase)  © SHFTea® (Aldolase)

36. =i Aie faeter o Wooe @it draea? (Which one of the following is essential for the photolysis ©

of water?)
® @99 ( Boron ) f&@s (zine) © S (Manganese) © F914 (Copper)
37. GRS 9 *127 A= {0 e w691 222 (Which branch of biology discusses snakes?)

@ TFEE (Onchology) RCATHIAS (Herpetology) © T BTRAE (Ornithology) ® feenfe (Geology)

38. (7 P GHF oi@e a2 (Which worm infects eye ?) ®
@ Loa loa Ascaris lumbricoides (© Necator americanus (® Wucheria bancrofti
39, LPHO RITAGRAT SqT® T2 (What is the phenotypic ratio of co-dominance?) ©
@ 2:2:1 ® 15:1 © 9g:6:1 ®1:2:1
40. e I EEmeTS e (el T @ %2 (In which plant is the determinate growth of @

inflorescence seen?)

@) e A\ (Mustard) © 4 (Rice) ® @4l (China rose)

41, Tal e T T 97 B 4909 237 (What type of endosperm is produced from double fertilization ?) ©

® =gee (Haploid) fegm® (Diploid) © 8T (Triploid) © EILEE (Hexaploid)
42, 059 (IR T AAESEEF 2 (Which one of the following fruit is parthenocarpict) ©
® @29 (Brinjal) Hitole (Apple) © <5 (Banana) © 3 (Jackfruit)

13. q T #(5f «Aige Bt ¢ PGS @l Jren Affy waT efermeia e 2 | wew @ow agfee gy (©
W FS? (Five positive charges of magnitude q are arranged symmetrically along the circumference of a
circle of radius r. What is the magnitude of the electric field at the center of the circle?)

4 3 St
® —— ® © o ® —
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dareyr” Amepr” HTEF

44, a. s T2 9 3o «ife Trem «9e 9% A9 “Ars qiow 7499 79 d @3 d < ®
@% ® 1 © 3 ® 9
5. ©

p =212 ke Q=611 3 - 3k (STIAAT TUEA oA FX TS 4FH @FF (977 @G TI? (1f

p =2i+2-kand Q = 6i+ 3] - 3k are two vectors, what will be the unit vector that is perpendicular to

both Band0?)

& ¢ % -3(:+2§c) -3(1-2&)

@ ‘l.'Zk ‘31'6;{ @ ———————— @ ———
45 IE

46. VR (AIE STSTRRE G T A4 OF AMIEA AT 2 cm TTF, ©4F 9 sifoxE Ffenfed ¢ v Fba ©

(ieTCere <819 S *A? (An object oscillating in simple harmonic motion has its kinetic energy 3 times the
potential energy when the object is 2 cm away from its equilibrium position. What is the amplitude of the
oscillation for the object?)

® 3 cm 1cm © 2cm ® 4 cm
47, ¢ _dx _ dy
[—— @3 79 F? (What is the value of —5? )
e te dx

® tan'l(e'x) tan(e 'x) © tan'l(exi) © tan(ex)

48. ¥w H HA® THOl 4R R e =g 23, 9 @0 [ $NA A 30° (@0 Wewe| Sl = [ovd (el

FoF? (If H is the maximum height and R is the horizontal range, one of the following is true if an object
is thrown at an angle 30° with the ground?)

@ R = V3H R = 4H © R = 4¥3H ® R = 3V2H

49, 7 & (64, G 5 G siedad QFh We (AT TO SNH 4 T s € @ T siedrag gl vl oo war

AA? (How many committees can be formed from a group of 7 senators and 5 governors if each committee
consists of 4 senators and 3 governors?)

@ 350 10 © 35 ® 30
50. W 2401 (72 = 1 ¥, O@ x €F W 972 (If 2401 (72 = 1 then what is the value of x?)

® 4 ® 3 © s © 2

& 1
a1 > 4 wErelitd AL G626 f#{es9 @ G2 (Which one of the following is a solution of the

|2 42|

inequality ?)

@[-~_ -“-l_xi-il (8) [3 -1] @[-g_l-l_xi-'z @[_E_l
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I L =¥ * Lt I B
___ against him.

52. Even though the former boss has always been rude with me, I do not hold any more

@ prejudice grudge © consolation © prowess
53. The CEO suddenly resigned___ rumors of misconduct @
®) between among © amongst © amidst
54. The verb form of the word "prison' is____. ©
@) enprison inprison © imprison ® imprisonment
55. The _of the moon on the river never [ails to amaze us. @
@ glimmer plethora © panacea © garrulity
56. Nuclear energy is ____ dangerous to be used widely. ©
® so such © too © that
57. Arriving late at a meeting is rude, and shows___ other people's time.
@) lack of respect a lack of respect for © carelessness ® insult
58. If his friend had not helped him, Arif___ it really difficult to complete the assignment. ©
@ would have to find might have done © would have found © might not have done
59. For myself, T chose the cheapest dish on the menu ___ a mutton chap. ®
® and that was but it was © likely © for example
60. Rahat will be going to the US, __she? ©
@) isn't can't © won't ® didn't
61. Those who are vulnerable are___. @
@) aggressive and uncooperative need to be treated in intensive care units © guilty of a crime

© susceptible to injury or discase

62. T (G 9 c@iidigire qed i frd waeld o9 22 @12 (Which one of following gases is not used ©

as a carrier gas in gas chromatography?)
® N, Hy © He © O,
63. 59 @I o=@ i+ %S 7R 2 (In which of the following cases, diffusion would be the highest?) ©

@ 5 °C - § TG TCEF2E (Carbon monoxide at 5 °C) 35 °C - @ JRF TEAFLBE (Carbon monoxide at 35 °C)
© 5 °C - @ = (Neon at 5 °C) © 35 °C - @ ¥ (Neon at 35 °C)
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64, T6A (T FIAFOREDG A @ BSAR? (Which one of the following is the most stable carbocation?) @

® CH, (cm,), cH © H,C *CH, ® (CH3)C. :

65. @ P QIR v FMSTAEF BIF TG - ( The charges of « P and ¥ particles are, respectively) @

® -2, +1 and 0 +1, -1 and 0 © -1, +1 and 0 ® +2, -1 and 0

66. o5d @19 GG BRI-GE el @wed Fta? (Which one of the following compounds shows cis-trans
isomerism?)

® CHCHBrCl CICH= CHCI © CH, = CH, ® CH, CH(OH)COOH

67. Qio IPTre BEA (AT 4 MCE 7fo OF% ATTNR (74 2 | @%b gre (i v 7ft e 27 e o ©
¥ AL 90° | oI Efaﬁ SfewE L NLF ©LT FS ? ( Two coherent sources emit waves of wavelength
A which are in phase. which are in phase. The two waves meet at a point where they have a phase

difference of 90°. Which of the following could be the traversed path difference between the waves?)
® 24 A © A2 © A/4

68. GBIb P Bfgew 227°C @R 127°C w7 i@ld T $Q BCF | AW 2@ T $o icad AT 500) 2F, OF @
O AITF 2GS ST AT ¥ 242 (A Carnot engine operates between the temperatures 227°C and
127°C | If the work output of the engine is 500 J, what will be the amount of heat rejected to the sink?)

® 2000 ] 1500 ] © 500 ] ® 1000 ]
69. 9T XOR #AGT (56 FAARS @I AGF (o15/ (*HETAR AT I15S TS #a? (An XOR logic gate can be

constructed from the combination of which of the following logic gate/gates?)

® OR gate AND gate, OR gate, and NOT gate ~ (© AND gate and NOT gate ~ ® OR gate and NOT gate

70. 5a @@fbq W@t @82 (Which of the following is a dimensionless quantity? ©
@ “ed (Stress) -9 @% (Young's modulus) © fPls (Strain) ® B (Pressure)

71, M (FFFres ©fF, Awa efelbd T d ¢ M 1, 9 @ifd e TS o | T @y A 9FH 1 ©
AT (qETeIploq OiEd (ICAd e 22, oiq ofalbd WP 92 (Nine cylindrical wires each of diameter d and
length 1. are connected in series. If the resistance of the connection is equal to the resistance of another
cylindrical wire of length L, then what is the diameter of the wire?)

Lol =W

® 3d ® od ©§ ©)

72, @f5 B A =T O =A 100 m1 @S WS B® @l som M @F s YorE Wy oy A e gz ©
alt® w_fge Riewad % sEd @, 95b Ygre Gaba el UF Jeor teda A &) ¢ 97 930S G 99
(357 T2 (A train has a rest length of 100 m. Traveling at a very high velocity, it goes through a tunnel of
length 80 m. Observers located at both ends of the tunmel note that at one instant the train appears to

exactlv fit within the tunnel. What is the velocity of the train exoressed in units of ¢?)
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- - L

® 0.866 ¢ 0.333 ¢ © 05 ¢ ® 0.6 ¢

73. 0.50 kg STaR @6 T X IF 9L x(t)= - 13. 00 + 2. 00¢ + 4. 0077 - 3. 00¢* FFF AR E, 7L x
aF 935 WO @R 97 9TF CTFC | 1=2.0. 5 - 4 I 84 A I F92 (A 0.50 kg particle moves along
the X axis according to x(t)= -13.00 + 2. 007 + 4. 007 - 3. 00 where x is in meters and t in seconds. What
is the net force acting on the particle at t = 2 5?)

® -28 N ® -14 N © g N ® 36 N

74.

1 £ £
y =1+ 5 @l x-orwd A e @ y- o B fgre (2 $AT AB A AN v (e

( Ifhe curve y =1 + S+, intersects x-axis and y-axis at A and B, respectively, then which one of the

following is the equation of AB?)
@x+2y+3=0 x+2y—3=0 ©X—2y+3=0 @X-Zy—?):O

75. cosecl(° - 4sin70° QF Wi F©? (What is the value of cosec10® - 4sm70° 2 )

® 4 © -2 © 2

o

s
76. tand + cotf = 2cosech, 0 < O < 5 = 0-a9 I 92 (What is the value of @ that satisfies tan

tanf + cotf = 2cosech, 0 < B < ;)

® ® = ®: ®:
77 afft fix) = —— B, WA £ ) er (P B2 (If fx) = —. then which one of the following is the
codomain £ (x) 2)
® r (3. 0) © (. 3) ® R- {3}
78

"P=al-2)+k @@ O =2al- al - 4k *E TR XA, a-9F T F? (f P =al- 2T+ k and O = 2al - aJ - 4k
are perpendicular, then what is the value of a?)

® 1, 2 A, 2 © 1, 2 ®© -1, -2

79. (0, 2) Q3R (-2, 0) oIS FETAL! xBTFA GATF Wrwa M F @1 TesAw a2 (What is the angle between
the straight line passing through (0, 2) and (-2, 0) and x-axis in the positive direction?)

@ 30° 45° © 60° ® 120°

80. y-SICFA FAGAR, QT 2x - 7y + 11 = 0 3 X + 3y - § = 0 (FEEHS (ieq el SfCHTHIq FFRFF ATFHe
fesa @962 (What is the equation of the straight line that is parallel to y-axis and passing through the
points of intersection of the lines 2x - 7y + 11 = 0 and x + 3y - 8 =0? )

@ 13x-23=0 ® 3x-7=0 © 7x-3=0 ® 23x-13=0
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81. A BNRA @FEE KMnO, 9F M S (e 23, 07 Frsa @b B[ 2?2 (Which of the following is
yielded, if ethyl benzene is heated with KMn0,?)

@ @& (Benzene) @RS aPf® (Benzoic acid) © B&3d (Toluene) ®) 27+ (Ethane)
82. CO, -9 I2EPGA {28 SFe 24 - (The ion that is isoelectronic with CO, is_) ©
® NO" 0] © cio ® N;

33. NHI S E3 L O 64 O T game el =8- (The reagent used to confirm the presence of NH T ion is_) ©

® NaoH K y[Fe(cs] © NaOH, K,Hgl, ® (NH,) 2204
84, Ry fawarl a® o7, 2iBtgre affee ama Bifred o7 ABee wawwd T 2a? ( If Ry is the Rydberg
constant, what will be the wavelength of the 2nd line in the Balmer series of hydrogen spectrum?)
36R,; 16 Ry 5
® 3 R, © 16 ® 36R
85. 100 mL 0.2 M Na,CO, TH T eifis Tars 5 SIaerd 0.4 M HCl 2T 203? (What will be the 0)

required volume of 0.4 M HCL for neutralizing 100 mL 0.2 M Na,CO; solution?)

® 50.0 mL 25.0 mlL © 100.0 mL ® 10.0 mL

86. frod ol fafamaioe Ky, @ K, Q9 3 33? (Which one of the following reactions has the same value of K, ©
and K)

® Nz(g) 4 3H2(g) - ZNH3(g) ® PCl5(g) = PCL3(g) © 12(g) 4 Hz(g) = 21H(g)
® N,0,4(g) =2N0,(e)
87. Sfbsara uiva Raae {eq WG -0.76 V @ +0.80 V | % Se<q/a ufs @iFl 0ol @ieaa (716 fwa w97 ©

(The reduction potentials of two electrodes same are -0.76 V and +0.80 V, respectively. what is the EMF
of a cell constructed using these two electrodes?)

® -0.04 V +0.04 V © -1.56 V © +1.56 V
88. Q9 (ACH il Coidq i 20T -1 (The process of making posset from milk is_) ©
@ SIEREEY (Hydrolysis) A& (Fermentation) © @AEEE (Coagulation) @ w9 (Oxidation)

89. CH,=CH-CH=CH, -€7F F4 AHNPTRS AT Bl A2 (Which one of the following compounds has the ©
strongest hydrogen bonding?)

® sp*, sp sp,sp” © sp? ® sp. sp”. sp®

90. ToTse @19 @it Iieorw *feia) 2iErgies 7%+ TACZ? (Which one of the following compounds has the ©
strongest hydrogen bonding?)
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® H,0 HyS © HF © NHy
91, T Targ Tesife @FIAE? (Where is the origin of the Jamuna River 2 ) @

® st 2R, (Gangotri Glacier) Ae-wie=tq (Naga Manipur) © HIZ #IRIE (Lusain Mountains)
© T AR (Manasarovar)

92. Geeer=rd a8 @62 (Which is the property of the Troposphere?) ©
® Tl Jmd A YT TH©IT @ (Increase of air temperature with increasing altitude)
([qod ©qrrd efem=q (Reflection of radio waves) © wferaea a@ a9 (Absorption of ultraviolet rays)
© Twel Jfas AL AL SIATAI FIA (Decrease of air temperature with increasing altitude)

93, R Aow@ I AT AT (@ THARE CAIB1? (Heavy rainfall in the winter and no ©

rainfall in the summer is the property of which climate?)

@ @M (Monsoon) I (Equatorial) © TILPIIIR (Mediterranean) © F@NE (Polar)

94. B a2ifrs feea A ort @12 (Which country is the leading exporter of tea in the ®
world?)

@ S (China) TS (India) © &= (Kenya) © AT (Sri Lanka)

95, AEH M ¢ LT P& (Fi TAba F97© 222 (Which map is used for revenue collection

and administrative purposes?)

® Z @ yF A (Topographic map) &l AE (Cadastral map) © < @ (Thana map)
© GeNF WAdE (Area map)

96. AT (F TIWHE FEAA? (Greenland is located under which continent 7) @
@) Teq NfEF (North America) " AR (South America) © BBG@H (Europe) @ 9BREHH (Antarctica)

97. TANTSE JEEHA (e & 2w FE=? ( Who has presented Demographic Transitional Model?) ©

® 5T 459 (Stephen Thompson) T #e9 (John Linkon) © SATAT 4T (Warren Thompson
(®) W& @@ (Lozi Beard)

98. ARFAACHT *EFGTALS AT 2L Se® 77 (02 (Which one is not a major source of air pollution in ©
the cities of Bangladesh?)

@ e (vehicles) E5eibl (Brickfield) © fi" Q&R (Construction sites) © AT CATEIAl (Blomass burning)

99, farsa Il TwwrEd cenafie ©@ T892 (Which one is not a high level programming language?)
® s+ (C++) () © TS (Java) © #1284 (Python)
100. CEPTEe A 9 @F 2's complement F©? (What is the 2's complement representation of the decimal ©

number 97?)
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® 00101111 01001001 © 11110111 © 11110110

101. B LI 7051 9F ANGeN qeAE AW @42 (Which one is the Binary equivalent of the Octal number ©

70517)
® 111000111001 111000100111 © 111000101001 © 111000110001
102. ¢ 46 fra tefe e cefomm wwals w 24, 7w s Beifaferas &6 =a2 (What is the maximum ®
decimal number that can be represented using 6 bits with the maximum significant bit (msb) set to 0?)
® 62 31 © 15 ® 32

103. A 9% B 9 2% wHierE-aq 2470 20F 919 sum eftaa 9@ @afb? (If A and B are inputs of a half adder,
the sum is given by which equation?)

® A AND B (® A XOR B © AORB @© A XNOR B
104, s @G IEEEe-a7 Swigas 98? (Which one is not an example of biometric ? )
® fFoRfelS (Fingerprint) MBI (Pattern) © WA (Iris) ® ™ (Voice)
105. 59 cenafoa =nSh6 M 2732 (What is the output of the following program?) ©

int main(){

int i;

for(i=0; i<5; i++)
printf("%sd",i+2);

return 0; }
B 024638 ® 01234 © 23456 ® 246810
106. B FETAE 9 AW ——aF TWRAT | (Production of high yielding crops is an example of — )

® wEEEE (Cryosurgery) Giog TR (Genetic Engineering) © "EABHEEE (Nanotechnology)
© Faw Ff@wsl (Artificial Intelligence)

107. eoq (10 SFT5I GEsbe c2ialy w57 (Which of the following is not a computer translator program?) ©
® =N (Assembler) TIZeNE (Compiler) © ZTBIRMLGH (Interpreter) © f&@ (Debugger)

108. T9059 (1 FHSART TOIAT F2b @6 G I& Fa? (Which one of the following network devices @

connect two networks?)

® = (Bridge) Z9 (Hub) © fa7B1 (Repeater) © I6SA (Gateway)
109. 4RIT S-SRI (F S@b AWSE #F BT (Which layer in the earth's Interior is the thickent ) @
® $95 (Crust) WeGe(Ment al) © 4fzg FHETEA (Outer core) ©) "®3 (FEEE(Inner core)

110. W 4 @ 9F@ 99 FOFA T4 27, 9F ©F TG (FADBR FRCHG FO0! SV 20A? (Find the number

af slamente in tha cammls cnaca Af an svnarviment "Faccing 4 caine )
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ML lellieddbd Ll bli JEHLLEE L JESAG WL GRLL LRl L1l L CAIILLLE, T AL e

® 4 ® 8 © 16 © 32

111. T% 90 FHEE T 10 932 RE0F 40% =W, S2A ROELd 0% T 23?2 (If the mean of a
distribution is 10 and the coefficient of variation is 40%, then what is the variance of the distribution?)

® 36 ® 4 © 25 ® 25°

112. 2ifdfess +% Woa @AGa e=@ Wea¥e? (The arithmetic mean is dependent on which of the following?)
@ I (Origin) T (Scale) © T ¢ Treft T2 (Both origin and scale) ( ©® 9= (Unit)

113. gfo Faeers w6 9@ @9 ToFe SO g e FoT TRl @I 6 @A T 26T TS
T9? (T'wo unbiased dice are thrown. What is the probability of getting a sum less than 6 of the two
numbers at the top faces of two dice?)

@ 5/18 1/4 © 2/9 ® 7/36

114. 93 A v T, o6 A, ¢ o6 T == =iem I/ e 9F 79 ARG TreEw 6 A @B FA
<ot 9 2eF WA F9? (In a box, there are 8 orange, 7 white and 6 blue balls. If a ball is picked up

randomly, what is the probability that it is neither orange nor blue?)
® 1/3 1/21 © 2/21 © 5/21

115. G To© Sre=iexTl iﬁaﬁ a9 a2 (Which one is the major reason for rapid @
population growth in Bangladesh?)

@ el ¢ sPseas (Illiteracy and unawareness) mifs@rel (Poverty) © FhfSfes F& (Agro-based society)
© w1 FEiFEl (Food security)

116. SNACH G #9 (F 2iFlos T#n Faroea (@ W2 (Which natural resource besides gas ©
is highly abundant in Bangladesh?)
@ T e (Hard rock) Y% A7 (Mineral sand) © T (Coal) © 3AMF (Limestore)
117. QAN fafere (i qired F[a @& a=wia? (Which sector is the highest contributor in ®
Bangladesh's GDP?)
® FM (Agriculture) & (Indistry) © @Rt (Services) © weHi(Fisheries)
118. @il e & G2 (What do you mean by strait) @
® 96 A=/ TR AT AR Fg@HAL (Narrow chanriel connecting two seas / oceans)
AT oA SR (Landforms of sea floor) © =eEfes T@9ie (International waterways)
© ALEITWA (Seaport)
119, o9 CERTEE FRe @FRG? (Which is the cause of high tides ) ©

@ v 79 @ B ACE (Moon is the closest to Earth)
m W.W?ﬁm?ﬁ?ﬁ TIAFE (MM Aame Qi amiiamenilar macikiamd
12 /1
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NS UH_'A‘?“! ST I Y ™ “*’\I_'I RAVIMA LI P LIL L \J\ululﬂllsu.lﬂl PVDILLULJ}'
© =ff¥R1 s ACE P A (Earth is the closest to Sun)
® &, WET @ ‘Vﬁ]%f @F8 AFFELH A0S (Moon, Sun and Earth are in the same straight line)

120. QALHNACT (S QHGIY STAHCTg TH e FEre? (Uranium has been found in which area @
(of Bangladesh?)
® CHeREEd FMee (Kulaura of Moulvibazar). RS ANATA (Rampal of Munshigany)
© s a et (Bholaganj of Sylhet © fwerg=taa FoRES (Phulbari of Dinajpur
121. (FA0 SBFIA PRI WA A foe@q SAME? (Which one is the innermost component of the
optical fiber cable?
® Ffee (Cladding) P9 (Core) © SIFG (Jacket) © e (Buffer)

122, 8 feerzs faca 0o @l o Sesirf b emea afefls Fiecea w0 100 Bl 20, eheriala ois wrfe ©
{96 I (FS GIFA) (In a Mesh topology network of 8 devices, the cost of each link is 100 taka. What
would be the total cabling cost of the network (in taka)?)

® 800 1600 © 2800 ® 5600
123. "wikipedia.org" —— @9 TmEAq- ("wikipedia.org" is an example of-—) @
® (TIET @ (Domain name)(®) THF GTEA (MAC address)© A€ @X (Server name)® EHIR @F (Router name)

124. @3SBATEH « QAT Frowa 1T T892 (How to Insert hyperlink in HITML?) @
@A) <a href = “www.abc.com”>ARC</a> <url link = “www.abc.com”>ABC</url>
© <a url = “www.abc.com”>ABC</a> ®© <a target = “www.abc.com”>ABC</a>

125, FIoa IR 1 (2naifSie SrAm Ao eifqe=a am? (Which one is a valid variable name in C programming
language?
® %unsigned _unsigned © 123unsigned ©® unsigned
126. G2 @IF X 8 Y BIFHEA & OF(0 @rHrs Siawd FCae | W X ¢ Y 9F FE5S 2639 AR I
2/5 8 4/7 &, ©IEE oind Sord [@Hiibe 2eAid FeEH F9? (Two people X and Y have applied for a job

in a company. The probability of selection of X and Yare 2/5 and 4/7. respectively. What is the
probability of both of them getting the job?)

® 34/35 27/35 © 8/35 ® 3/35
127. 1 ffafre BISRICERS ] @62 (What is the formula of the sample standard deviation ?)
S {x-x)? Z xi—x)z X -x Yola-x
o () \“1 o 2] o 2l
n-1 -1 -1

128. €6 f2fves g 506 X €9 7oA {9007 IEaS 2@ k €3 T $9? (Find the value of k from the following

nrahahility mass fimetion of a random variahle X))
13/ 1¢
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b oo ool e el ¢

H sttt e i

x 1 2 3 4 5

P(x) 0.2 2k 0.15 k 0.3
® 1/60 1/12 © 7/60 ® 9/60
129. @S 74 561¢ X 99 & Var (2x + 5)-99 W $9? (For a random variable X, what is the expression of
Var(2x+5)?)
Var(X) © 2var(X) ® avar(X)

@ avar(X) + 5
130. @f6 feeinl fampi+t fefes trawey A (BB1E el n = 20 @92 FFESI HB p =0.614 | WAGGH (SWE FO

203? (Find the variance of a random variable, which follows a binomial distribution with parameters n =

20 and p = 0.6 )
® 12 4.8 © 8 ® 9.6
©

131. LAISF A#7a qeare e e F0a @2 (who called economics the science of wealth?)
@) & @F A (J F Ragan) TReE A (Professor Marshall) © = =2 (Adam Smith)
© GG=F 9+ 993 (Professor L Robbins)

132, TeAma @R (@316 STeeiaRe 23 739 J9 I (The Production Possibilities Curve is a straight line

© 9 (Negative)

when opportunity costs are -)
® @IIEYH (Increasing) IR (Deceasing) © 129 (Constant)
133, 43fo BT Sen] QIR @ AT TP Qa = 20 - Zp 9R Q = 10 + 4p | €2 WA ST WY 9L
“Afe1d ¥© 29? (The demand and supply curves of a product are Qa = 20 - 2p and Qs = 10 + 4p. What
are the equilibrium price and quantity of the product ?)
® p=510Q=10 ©p=10,Q=5 ®p=50Q=5

® p=10,Q=10
134. X BCAE W 8o (ATH T ¢ 70 T0A Y BWCAA IRl 120 4T T I (18 140 4T 2 | GG *T14-
(If the price of X commodity decreases from 80 to 70, the demand for commodity Y increases from 120

urits to 140 units. The commodities are -)
®) "‘"ﬁ‘?ﬁ?ﬁ (Complementary) ATaST (Substitute) © THTRE (Essential) @ FF3 (Not related )

135. Ttsq a4iforas DD @ift 1w iiward oamei? (Which of the equation fits the DD curve in the following

graph?
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®Q=6-§p Q=6-§p ©Q=5—§p @QZS-EP

136. (P FEE 9920 SHIAY QIR BTG SAWMGETA TLFIF BiA9fd 760 F 912 (The technical relationship ©
between the inputs used by the firm and the physical quantity produced is known as which one of the
following?)

®) 9 @S (Cost function) 2fes TeAmalald (Law of marginal productivity)
© TeAMe S (Production function) ® (D) TeAW=RE (Law of production)

137. O3 TIEE TR SEA 2GR S @67 (Which one is the necessary condition for the short- ©

run equilibrium of a firm?)

® MR > AR MR > MC © MR = MC © Sslope of MC > Slope of MR

138, TETIA ARATT A 7] (A T @ A S S (Currently from which country does ©
Bangladesh import the most?)

@ FAE (Canada) TEAIE (USA) © IFAW (UK) © 59 (China)

139, TAeoq (e Siafe =) eferfroners aecaa A AN 7S 772 (Which one of the following assumptions ©
is not consistent with the perfectly competitive market structure?)

® o< fararsl @9R BFex) (@ol 9T (Many sellers and many buyers )
afefb Tl «ls Awemer #of Terve Fg a2 M 1 (Fach firm produces and sells a homogenous product.)
(@ @ [OFOTe e BT WY Q2 QAT FHEF AT8 O 07 (Buyers and sellers have all relevant

information about prices and product quality)

© 93 FEE 5 Mg o T T T (1t is extremely difficult for a firm to enter the industry.)

140. s TrRee @ et Wi B9 A2 (In which of the following markets is the price constant ?) ©
@ TR (Duopoly) sy (Oligopaly) © "ff ky 'b?,zliﬂ\ﬂlﬂﬂﬂi (Perfectly competitive)

© @b (Monopolistic)

141, C =50 + 0.80Y AW (sl TCTHF 2, ©F FLT HeorwF @67 (If the consumption function is C = 50 + ©
0.80Y, which one of the following is the savings function?)

® $=50-0.80Y 5=50+0.20Y © $=-50+0.20Y © 5=-50-0.20Y

142, Feoet IAG cdm <Diecwd 4@ S w12 (Which one of the following is not the function of the central
bank?)

B FAF TAAT TS AT (Accepting deposits from general public ) €) &1 € (5 255 ( Issuing bank notes)
© FRFIET e FI@Y ASE Fa (Operating as banker to the government)
© Y@Aifes IR T4 (Implementing monetary policy)

142 ST wrda Ta &5 B2 (What ic +he main onal Af sarh firm 2) @
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4 1da —y S T B LONS e R LML A L LLIALLL GRARAL Sl WAL LLLLLL e f ]

® eF TEEA 0 (To develop the country) A IS T4 (To earn profit)

© TFEY T4l (To do public welfare) © ©eAm T4 (To produce )
144, "White gold" <@l 27 feitsd FIHLCF? (Which of the following is called the "White gold"?) ©
® “G(Jute) S (Tobacco ) © ﬁﬁﬁi(shrimp) ®© Efmi(Hilsa)

145, YEFHITS 9B0A Seld STF A SAeled @ Ferd 9§ 2?2 (What happens to the value of money or people's

purchasing power when inflation occurs?)

ORL {ﬁﬁ AR (Increases gradually) (8) @¥* ZFT “ (Decreases gradually) © oSS W (Remains unchanged)
© we ﬂf@ﬁ 7R (Increases sharply)

146, GIFE ARG BrEwT v GTE fieaE aer fe a3 5w Esem Tars 5| ©3 e e (A)
ffem f& 4779 5917 (A psychologist wants to conduct an experiment to see the effects of social media on
anxiety. What type of variable is "social media" in this study?)

@ ST (independent) @i (dependent) © JAZF (extraneous © ==Fe (intervening)

147. <@ T, QT R S @316 SGE e Fre T4 8T e o FiR slewteee 708 B A ey (B
T «raelf e M ©f 99l AT ST =L TS 9 A S AV AfZere o 2
e | Afb (P 49eTE MERA? (Suppose a student learned theoretical concept in class, practical
application of which was not immediately apparent. But later, he employed it in real-life scenarios when
needed despite being unable to recall where he learned it. What type of learning is it? )

® ore 9 (Incidental learning) @@E@W P (Insightful learning). © W’ﬁ‘i‘@ﬁ‘i ™l (observational)
© 73 =5 (latent learning)

148, GG S G QT *2rH T (O B LS (meA TAE FH ol A ACs oW, g foft (A
2R o2d Fare LA a0z T 97 T O A9 9 IFTE =e @e 7w | «ft e Swewdr
(A person has been offered a well-paid job in a city where he has always. wanted to live in, yet hesitates

to accept the offer because it would require him to leave his family and friends?)

® =NFHA- e 9% (approach approach conflict) a4 9 (avoidance avoidance conflict)
© g 7 (approach-avoidance conflict) (@ fRed g9 59 (double approach-avoidance conflict)

149, S AR 7R SINTE TEE < fon fonl sare o 4 (@ T affew aafs oaw g 9 o aomd (B
O | AT AL (Pl Aife gl @fbrs <o Fal AA? (When listening to music, our brain does not keep
the different notes of the song separate but perceives them as a single, smooth melody. Which principle
of perceptual organization can explain this?)

® 53 (proximity) “faff® (familiarity) © =T ( Similarity) @ 49RIRFS! (continuity)

150. A TrRe TCS FLAG I8 AVIONLT [P F0a QR f7rea Ftw Trasid T coisa a4 e g @
AR A1 Q2 (DAL AT P2 (To reduce anxiety, people sometimes use some techniques to distort

s leeses wowd el eles meesspse ol wegerrpsy Basany rlesermelinee srwarlsoys e eles ceesnes wff wlfleeage g P e A\
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IgliLy drid CoOrieedl Lne SOLLCe UL dlXIeLy LTOII LECTIISEIVEDS, YWD 1S LIIE FRINe Ol LIESE LeCTIIYLSS L)

® ATH-HfEF @M ( problem focused coping = foTHl (G (ego defense mechanism)
© TEAN-FEE @ (emotion focused coping). © «fe®m 5 @ ( avoidant coping)

151, 5 J2F T I 7 Te9 I BT T tof 1 A v TeF rs Hid | e gaRE F97 (5 years  (©)

old Swaron can answer all the questions prepared for 7 years old Shinthy. What is the 1Q score of

Swaron ?)
® 110 120 © 130 ® 140
152, O @3 oS +fote ¥F TR (@ @G T TEF T | SiEeE N Ew e @i TeEt o weiE ®

QFFY DR @G ATY (ST IBEA @i 9o FiFar 'QI(‘:W*]' il BLatR? (You are reading this question
and thinking of the correct answer. Then you have decided which one to answer. What lobe of the brain
plays active role in such decision making?)

@ 2 WWF (Frontal) Tf WBF (Parietal) © =roie TEH (Occipital) ORICER L (Temporal)

153, TS [ 7 Sl 797 (O (@l 9F 59 ¥ G 2 | G i T qfes, s o
ifozs], T (AT AfozeT | GTORZE, S (ie Figeg SR @12 (One of your friends was in serious
tension while coming for exam today. He was sweating, having dry mouth, and his heart beat was
accelerated. Which nervous system was in action at that time?)

@ &P (Somatic) @@ (Central) © SRl (Sympathetic) © =[P (Parasympathetic)

154, “Pf @ TAGER “Ters Bie?" 9% o Tea TEREaa @ 41&e T3 A SrAerd A w4 awae (©)
("Why do you want to study psychology ? Which concept of psychology best explains this answer?)

® ’?f@ (memory) g% (perception) © ™=t (learning) © 239 ( motivation)

155. @i $© O 5 2F Ifa efedtaer f2mra 9a1 277 (Below which 1Q score is it considered as mental ©
retardation?)

® 100 90 ® 70 6558

156. YeAi<eelcd fRamag 1?7 (What is the subject matter of psychology?) @

@) =BaY (behavior) 9 (soul)  © Y9 (mind)  ® WHA9 € TS &fe (behavior and mental process)

157. (W 4a0Tq Sbaaers #faasars frme 9o 22?2 (What form of change in behavior is considered Learning?)

® b e =bAes AfSA (change in behavior due to accident)
GIO@ESE FA AHAR “GTe (change in behavior due to experience)
© OIAIre el SIS #M§98d (change in behavior due to fatigue)
© +feTTaa T wvaes “faaeq (change in behavior due to maturation)

158. fitsg A i “mafes Aife? (Which of the following is a principle of the scientific method?) ©
(®) #RIGAY (respect) 7ol (honesty) © @9 (control) ® Wfi‘gi\?i' (patience)
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159, (P TR G T 9T SRS S 2efare B W q0E? (Which hormone contributes to life

satisfaction and pleasant feelings?)

@ ARBFHFT (thyroxin) SHBIPF ( oxytocin) © o (cortisol) © EFfR (insulin)

160. @, =tas, erepsd, Eifew fiud g3e “iﬂ% F? (What are thinking, emotions, perceptions, reasoning, and
memories?)

@) =Ea (behavior) NPRe @@ @ (mental process) © e afEal (biological process)

© Aifers Afeaite (social norms)

161. 2<¥ T\gﬂﬁﬁ 8 9O WW *eFql T© Ol O ATF? (What is the percentage of data in between the
15t and 3rd quartiles ? )

B 45% 50% © 60% ® 75%

162. "ﬁﬁ‘ SANE x TR y @F TG 20 | 1 2 - 35 27, WA x, y QR z €F € F9? (The average of two
observations x and y is 20. If z - 35, what is the average of x, y and z?)

® 20 25 © 30 ®© 35
163. @9 @@ #if5 qa AR ToF fofe w9 afeFe? (Which plot is based on a five number summary?)

® *Tf ¢ s[@F @TUa (steam-and-leal) e (histogram) © I @ 2259 @125@ (box and whisker plot)
© =fer® @3 (ogive curve)

164. @b 4TS 4 T AT Q=R 2 B A <1 A1 Goig QB Awe 3 B AW ¢ 5 B S = AR AR AreE
qr7 TS 436 A T TS T4l 27, R I993 AW TSI IR F92 (A bag contains 4 white and 2
black balls. Another bag contains 3 white and 5 black balls. If one ball is drawn from each bag, what is
the probability that both balls are white?)

® 4/6 3/8 © 1/4 © 3/4

165. Ao 2 ATTSNF oG @F (FE AW FHAF A8 (ST AW AAT ARG faed =01 w@lfe «Faa Fewet
AT 4 OF FY ATF A F92 ( A biased die is so loaded that an even number is twice as likely to
appear compared to an odd number. Find the probability of getting a number less than 4 in a single

Loss?)

® 1/9 4/6 © 4/9 ® 1/6

e —
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